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JEAL SINE K4 OUT| I N | GROSS | HDCP NET  |GROSSIIEfiz ik
1 /R 57 50| 47| 97/26.0 |71.0 | 72
2 W #H— 45| 45| 90/19.0 |71.0 | 38
3 INH BkE 52| 47| 99/27.0 |72.0 | 82
4 |fRH #IT 43| 38| 81/9.0 |72.0 | 4
b g F 40| 42| 82[10.0 |72.0 | 7
6 = HIx 37| 42| 79/7.0 |72.0 | 1
7 R = 51| 47, 98/25.0 [73.0 | 77
8 Afr Kig 40| 41| 81/8.0 [73.0 | 4
9 AkES 37| 46/ 83/10.0 |73.0 | 11
10| /g 2 40| 39| 79 5.0 [74.0 | 1
11 |EFH: 44| 44| 88/14.0 |74.0 | 27
12|14 A 45| 47| 92/18.0 |74.0 | 48
13 g == 39 43| 82/8.0 [74.0 | 7
14 /N1 #15 43| 43| 86/11.0 |75.0 | 20
15/ HE(E 42| 43| 85/10.0 |75.0 | 16
16 g 4784 42| 43| 85/10.0 |75.0 | 16
I7|RT ¥ 40| 46| 86/11.0 75.0 | 20
18 | faTH F WA 47 46| 93]17.0 |76.0 | 56
19| &M =R 41| 40| 81/5.0 |76.0 | 4
20 ik [E3E 48| 43| 91|14.0 |77.0 | 41
21 \BplRy = 47| 42| 89/12.0 |77.0 | 31
22 |5 HIAT 48| 48| 96/19.0 |77.0 | 63
23| BRI R 44 45/ 89/12.0 |77.0 | 31
24 KH 3R 43| 45| 88/11.0 |77.0 | 27
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JEAE SNE K4 OUT| IN | GROSS | HDCP NET | GROSSJIE{:: ik
25 IMH EE 47| 49) 96/19.0 |77.0 | 63
26 | ks A=K 40| 43| 83/6.0 |77.0 | 11
27 | HES: R 47| 50/ 97/20.0 |77.0 | 72
28 | A 40| 45| 85/8.0 |77.0 | 16
29 \Takf FiiR 41| 47| 88/11.0 |77.0 | 27
30 R M5k 57| 46| 103/25.0 [78.0 | 90
31|RE ME 48/ 45/ 93/15.0 |78.0 | 56
32| B s 44| 43| 87/ 9.0 |78.0 | 24
33|\ %A H 42| 42| 84/6.0 |78.0 | 14
34\ g A= 39 40/ 79 1.0 [78.0 | 1
35 M1l 7= 43| 46| 89/11.0 |78.0 | 31
36| =% #ohE 48| 43| 91]12.0 [79.0 | 41
3T A —BR 46/ 43| 89[10.0 [79.0 | 31
38 | g ==+ 58| 57| 115/36.0 |79.0 | 116
39 | BEIK 43| 45/ 88/9.0 |79.0 | 27
40 LS TER 41| 45/ 86/ 7.0 79.0 | 20
41 /IR FKE, 46| 52| 98/19.0 |79.0 | 77
42 "2 iE 42| 49| 91]12.0 |79.0 | 41
43 g Fnz 41| 48/ 89/10.0 |79.0 | 31
44 |k e 47| 43| 90/10.0 |80.0 | 38
45 P A 44| 43| 87/ 7.0 |80.0 | 24
46 | EAT FE 41| 41| 82[2.0 |80.0 | 7
47\ &JE B 44| 46| 90/10.0 |80.0 | 38
48 HH =13 45| 47| 92/12.0 |80.0 | 48
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49 Grem B 45| 47| 92/12.0 |80.0 | 48
50 | V5 FH Fnfa 50| 54| 104/24.0 (80.0 | 93
51| H kLB 2 46| 50| 96/16.0 [80.0 | 63
52 185K HE 45| 49| 94/14.0 |80.0 | 58
53 B H: Hedsf 37| 46| 83/3.0 |80.0 | 11
54 Ik & 47| 44| 91/10.0 [81.0 | 41
55 A AR 49| 47| 96/15.0 [81.0 | 63
56 |k H G 43| 42| 85/4.0 [81.0 | 16
57 | Nk FIFn 53| 54| 107/26.0 81.0 | 101
58 | H 1k 43| 44| 87/6.0 |81.0 | 24
59 |gn K FEln 47| 49| 96/15.0 [81.0 | 63
60 &R —K 41| 51| 92/11.0 |81.0 | 48
61 74l FE W 51| 46| 97|/15.0 |82.0 | 72
62 A JAR 58| 54| 112/30.0 [82.0 | 112
63 |7INih S faf 46| 43| 89/ 7.0 |82.0 | 31
64 JE/K il 51| 49| 100/18.0 [82.0 | 84
65 B =2 42| 40, 82/ 0.0 82.0 | 7
66 | =5 M 5k 46| 46| 92/10.0 |82.0 | 48
67 =l B 47| 47| 94/12.0 |82.0 | 58
68 |MH FHia 42| 42| 84/2.0 [82.0 | 14
69| g0 ZET 45/ 46/ 91/9.0 [82.0 | 41
70| KE AN 53| 55| 108/26.0 [82.0 | 103
18K R+ 51| 54| 105/23.0 82.0 | 96
72 HHF AR 47/ 50| 97|15.0 |82.0 | 72
3/6 KAV =957




AR

:2013.1.3 10:40

BEAEH B :120134E01 02 H (k) %‘f%ﬂ(

Wi 1k TR —NT ¢

s ime hate

JEMERESTE vy TF T - Aay7a—kK SIANE - BPE120 N ZetE8 N Ait128 A
JEAE SNE K4 OUT| IN | GROSS | HDCP NET | GROSSJIE{:: ik
73 EH 1R 43 49| 92/10.0 (82.0 | 48
T4|fF BB 40| 46| 86/4.0 |82.0 | 20
75584 B 43) 49/ 92/10.0 |82.0 | 48
76 KB fKIL 43| 49| 92/10.0 [82.0 | 48
1T\ EA 50/ 56| 106/24.0 |82.0 | 98
T8 NfE ZFE 49| 46| 95/12.0 |83.0 | 62
79BN HEAT 46| 48| 94/10.0 |84.0 | 58
80 |F&HF [ ] 52| 55| 107/23.0 |84.0 | 101
81 7k H 44| 47/ 91/ 7.0 |84.0 | 41
82 | AR T 42| 49| 91/ 7.0 |84.0 | 41
83 4k 1= 60| 52| 112/27.0 (85.0 | 112
84 #AR SR 54| 50| 104/19.0 |85.0 | 93
85 Ak [H = 52| 51| 103/18.0 [85.0 & 90
86 |[#& & HH 51| 50/ 101[/16.0 |85.0 | 85
87 |k T 55/ 54| 109/24.0 [85.0 | 106
88 | FNH /A 48| 48| 96/11.0 |85.0 | 63
89 B AR P& 48| 49| 97/12.0 |85.0 | 72
90 | K& BRI 46| 50| 96|11.0 |85.0 | 63
91 \&F I B 44) 52| 96/11.0 |85.0 | 63
92| =&)Il EEF 47| 55| 102/17.0 |85.0 | 88
93 H & FEff 57| 53| 110/23.0 [87.0 | 110
94 \H & AlF 55| 54| 109/22.0 [87.0 | 106
95 | HBEE 48/ 50| 98/11.0 [87.0 | 77
96 | B8 43| 46| 89/2.0 |87.0 | 31
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97 N0 A 52| 49| 101/13.0 [88.0 @ 85
98 |1 5 49| 52| 101/13.0 |88.0 | 85
99 | K¥#E +— 52| 57| 109|21.0 |88.0 | 106
100|{Fig ALY RR 50| 56| 106/18.0 /88.0 | 98
101 AH —2= 59 47| 106/17.0 89.0 | 98
102| [LUIA LR 64 61| 125/36.0 [89.0 | 126
103 PRI AT 53| 51, 104/15.0 [89.0 | 93
104 g8k FH 56| 55| 111/22.0 89.0 | 111
105|[if] |5 2 47/ 51| 98 9.0 |89.0 | 77
106/ IEIHE 175 B 47| 52|  99/10.0 [89.0 | 82
107 H LB 5 58| 55/ 113/23.0 [90.0 | 114
108 N SEH 56| 53| 109/19.0 [90.0 | 106
109] /NE £ = 49| 47| 96/ 6.0 [90.0 | 63
110| % = 49 49| 98/ 8.0 [90.0 | 77
i\ —%k 50| 52/ 102/12.0 [90.0 | 88
112/ {FEE G058 49 45| 94/ 3.0 [91.0 | 58
13|HH 5 56| 52/ 108/15.0 [93.0 | 103
114 e FRZE 51| 54| 105/12.0 93.0 | 96
115 A8 7HT 3k 50| 53| 103/10.0 [93.0 & 90
116 AfrH FEF 55/ 53| 108|14.0 |94.0 | 103
17| TH #A% 55/ 58 113/19.0 [94.0 | 114
1181 F5 Al 55/ 60| 115/21.0 |94.0 | 116
19| 5K 55| 62| 117]22.0 [95.0 | 119
120/ SR fys 65 58 123/27.0 |96.0 | 124
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gz BINE K4 OUT| I N | GROSS | HDCP NET  |GROSSIE(: 5
121K 1EZ 62| 62| 124/27.0 |97.0 | 125
122/ T A 56| 62| 118/21.0 (97.0 | 122
123 5 54 54| 62| 116/19.0 97.0 | 118
124|582 1% 61| 56/ 117/19.0 [98.0 | 119
125 V8 GiR{IL 61| 58/ 119/21.0 |98.0 | 123
126| [LIAS I 55| 62| 117/15.0 [102.0 | 119
12126 5kt 69/ 80 149|31.0 |118.0 | 127
128/ &8 J¢HA 73] 90| 163|36.0 |127.0 | 128
6/ 6 XHKpHho ) —95T




